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yazt 6,141.5 423.0 113.0  4,210.8 65.5  3,408.0 737.3 770.3 623.5 1.0 16,292.5  4,525.0 84.54 75.52
ZALH T AR 1,338.3 89.5 32.0 962.5 15.0 753.0 194.5 161.8 90.5 2.0  2,958.0 827.5 85.61 76.13
AR T AR 443.8 25.0 6.5 305.5 5.0 235.5 65.0 59.3 47.5 - 960.5 320.0 83.76 69.96
Bk AR 773.3 57.5 25.5 448.5 10.0 383.0 55.5 110.3 131.5 - 1,960.0 591.5 80.27 74.06
PR T 7ERE 496.0 27.0 11.5 355.0 7.5 272.0 75.5 58.5 44.0 - 1,437.0 386.5 85.85 75.78
BT T R 260.0 20.5 4.5 184.5 5.5 115.0 64.0 33.5 17.0 - 609.0 174.5 84.63 75.45
B SR T AR 95.8 5.5 5 75.5 - 57.0 18.5 9.3 - - 351.0 81.0 89.09 80.06
=i )5 AR 722.5 56.5 9.5 507.0 4.0 404.0 99.0 79.0 70.5 - 1,945.5 524.0 86.52 76.46
FERE T AR 95.8 8.0 - 59.0 1.0 55.0 3.0 11.8 17.0 - 274.5 91.5 83.39 69.58
LM T R 205.3 12.0 3.0 170.5 1.0 101.5 68.0 12.8 8.0 -1.0 666.5 149.0 93.04 79.89
T T AR 85.5 6.0 0.5 65.5 0.5 60.0 5.0 7.0 6.5 - 361.0 82.5 90.34 78.95
EEMIT AR 165.5 17.5 - 108.0 1.0 104.0 3.0 21.0 19.0 - 540.0 131.0 83.72 78.98
2T ER 384.0 31.5 2.5 286.3 4.0 222.0 60.3 51.3 12.5 - 1,136.5 329.0 84.81 74.04
e T R 476.3 20.5 4.5 309.0 1.0 304.0 4.0 75.3 67.0 - 901.0 231.0 80.42 77.14
TEUE N 7 2R 58.0 6.5 1.0 32.5 2.0 30.5 - .5 10.5 - 402.0 137.5 81.25 67.66
S5 LR 52.0 2.5 - 40.5 - 37.5 3.0 4.0 5.0 - 333.5 62.0 91.01 82.16
R T AR 98.8 9.0 1.0 56.5 1.0 53.5 2.0 16.3 16.0 - 454.0 99.0 77.66 80.40
EE T ER 49.8 6.5 1.0 38.0 - 33.5 4.5 2.3 2.0 - 106.0 42.0 94.41 67.45
L TT AT 103.3 4.5 0.5 70.5 1.0 69.5 - 20.3 7.5 - 243.0 80.0 77.69 69.14
E M T R 117.0 7.0 3.0 65.0 3.0 62.0 - 18.5 23.5 - 302.0 87.0 77.84 74.50
Rl 7 AR 109.3 9.5 0.5 63.5 3.0 48.0 12.5 8.8 27.0 - 302.5 86.5 87.89 74.71
B T AR 11.8 0.5 0.5 7.5 - 7.5 - .3 1.0 - 49.0 12.0 76.92 77.55
#; EAR[EIHARR (%) 0.39 -7.84 -17.8 -1.41 22.43 -3.48 7.39 2.80 24.95 -50.00 -2.28 -3.19 -0.54* -0.03*
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